

$$\lim_{k \rightarrow \infty} \frac{(-3)^k}{2^{2k}} = \lim_{k \rightarrow +\infty} \frac{(-3)^k}{4^k} = \lim_{k \rightarrow +\infty} \left(-\frac{3}{4}\right)^k = 0$$

$$q = -\frac{3}{4} \in (-1, 1)$$

$$\lim_{k \rightarrow +\infty} \frac{2^k}{k^2}$$

$$\lim_{x \rightarrow +\infty} \frac{2^x}{x^2} \quad \text{"} \infty / \infty \text{"}$$

$$\frac{2^x \log(2)}{2x} \quad \text{"} \infty \text{"}$$

$$2^x = \exp(x \log(2))$$

$$\log 2^x = x \log(2)$$

$$2^x = \exp(\log(2^x))$$

$$(2^x)' = \exp(x \log(2)) \cdot \log(2) =$$

$$\frac{2^x \log(2) \cdot \log(2)}{2} \rightarrow +\infty = 2^x \cdot \log(2)$$

$$(a^x)' = a^x \log(a)$$

$$\frac{1}{k^3} \cdot 1 -$$

$$\left| \frac{k - 2\sqrt{k}}{k^4 + \sqrt{k^7}} \right| = \left| \frac{k \left(1 - \frac{2}{\sqrt{k}}\right)}{k^4 \left(1 + k^{-\frac{11}{4}}\right)} \right| \quad ||$$

$$= \frac{1}{k^3} \cdot \left| \frac{1 - \frac{2}{\sqrt{k}}}{1 + k^{-\frac{11}{4}}} \right|$$

→ 11
for $k \rightarrow \infty$

$$A \Rightarrow \mathbb{R}$$

$$0 \Rightarrow 1 \quad \text{poš}$$

$$\sum a_k \in \mathbb{R} \Rightarrow \lim a_k = 0$$

(na konec) svest

$$\{s_n\} \text{ je monotón} \Rightarrow \text{existuje } \lim s_n$$

predpoklad

zevni

konci

$$\text{predpoklad} \quad 0 \Rightarrow 1$$

$$\sum \frac{1}{k} = +\infty$$

$$\lim \frac{1}{k} = 0$$

$$s_n = \sum_{k=1}^n \frac{(-1)^{k+1}}{k}$$

$\lim s_n$ existuje